mnaa"7'omn 2,7v p"2.7"02

It is a prohibition which was - 97 n°3 nns» namIR® JNoIw IRD 799 71957
given as a warning for execution by the court

Overview

There is a dispute between 13> " and Y2XR "1 regarding 7n >7v who were first
w17 and later 117, One said that they are killed (for the 7n17), and the other says
that they are not killed. The X3 proved that it is X"7 who maintains 72773 X, for
since X"7 rules that 7n°» »7¥ who were w1 (and not om7) receive Mpn,' so how
could he maintain (in the case of 117 710271 Wwno17) that they receive nn, for then
it would be a 7">2 nn°» nNAATRY 173w XY, and the rule is that one does not receive
mpon for a 7"°2 NN NAAIRY TN IRY.

= 2197 1152 NN NINIRY NIV INY 2PN KXY 12903 PPN ON YaN
However, if the 7y (who were 12197 1wno17) are not Killed, the 8% of 71vn &Y is
not considered a 7''>2 nnv NTIRD JNNIW NG —

n1voIN asks:
= 315190 XYY MPUNY 12 99NN I2AN ¥IWN RN YIAT PNYY 199299 N1

And the *''1 is astonished, for it seems from the entire X223 that this rule of X
PHY PPI? PR 72 NN NATTRY 10w, is even in a case where they warned him for

lashes, but they did not warn him for execution -
- PNY 12 19NN NIV 1153 NIP) 2190 Y XA XY BNYYY 23 Y N7

So even though this person who was warned for mp%» will never come to be liable

for execution, since the 0>7¥ did not warn him thar he will be Killed, nevertheless -
= 41997 552 NN NINIRD INNY IND 2PYUN

It is still considered a 7''>2 nno» NIIR® NI IND, and he is not Mpbn 20, since one is

' They transgressed the 1% of (3,5 [1°] NMmw) pw ¥ Tv12 mvn K.
2 This explains the view of X"1 why they receive mpn by wno, for they can no longer receive 7n°» even if they were
111 later, so it cannot be considered a 72 NN NATIRG 02w RS,
3 Let us assume for instance that 2°7v saw him being naw Y9nn», and they warned him that if he is naw 9%m» he will
receive NP (for the WY of 719891 7wyn X?). The rule is that he does not receive NP7x, since this WY of 7oXY7 WYN X2
was given with the intent that one who transgresses this W% will be 70" 211 (and not mp5n), therefore even if in this
particular case the transgressor will not receive in* (because the 0>7v warned him that he would receive nmp%» [and
did not mention 71n*1]), nevertheless it is considered a 7"°2 nn NAATRY 1w XY and therefore 19 1Y PX.
4 The question is, in our case even if we assume that Y1177 3"nR1 Wno 1 the rule is that 173771 1'%, nevertheless this 87
of mwn XY, is a 7" NN NITIRY 1N WRY; for instance in a case where they were o171 on a capital crime, so how can
we say that if Wwn21 they receive mpon for violating the 7 of 71yn X7, since 71¥n X7 is a 7"°2 NN NITTR? 1N°IW XD,
and it makes no difference whether it is practically applicable to receive n"» in this case or not, the rule is always that
if there can be a iin 21 for this X7, there is never a Mphn 211, as we see by Naw (see footnote # 3).
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potentially 7n°n 217 for this X>.

mooIn brings additional proof that the rule of P12 1°X on a 7"°2 NN°» NIAIRY 1N°IW WY is even in a

case where 7"°2 nn°n is not applicable:
= 59930107 IND DY P10 PRT MMIN (x91 Hrnnn m1 0w &P 97 naw) TPYNNY ) PI93)Y

And 111 " said in wnw o» po that one does not receive nmpha for transgressing

the prohibition of =nm» -
- STANY INYY 12T 152 NN NININY JIY INY 51T BIVUN

Because it is a 7''32 nnam nmRy v I8S for the other MoRYM of naw -
- 7A55% 20 93 PR MMNN2T 23 Y 9N

Even though that by 2%n% there is no n%% 2197, but since this XY is 70 217 for other
MORY7, there can be no MpY» 21°1 even by nnn —

An additional proof:
- NN M) NINIR NN EPPINNA 1710 PRT N (3,0 9m P21V NP 7993)

And at the end of the first P2 of 19293 noon the X3 states that there is no nph»
for transgressing the prohibition of y°»11n, because the 777X (warning) for 12310 is

also the 797X for IRXY7T (carrying from one Mw to another) for which there is a 07 270 -
- 9255 NS UN NIYY IN 29019 307 DIUN NIN VNP KY 3193 1997 I8 1T9N)

And even according to *wX 11 who argues and maintains that there is a mpYn 210
for XX, he only said that because he argues and claims, ‘does it then say in the

X2 X 7710 (which would indicate nxx37), it does not; instead, it is written X3 5N’
(do not go out) which refers to 12110 exclusively.

In any event there are those that maintain that there is no Mp%» by P, for itis a NIAIRG 1P IR
7"2 nnn -
= NSPINT 9INT INNDD 129N 122NN NN PRV 29 JY 9N

5 9nnn means leading a laden donkey. The 87 of 7nn is 79X71 mwyn X9, the same R as for all the other NAw NIxY~.
The X1 there derives from various sources that even though 7 is 710K, nevertheless there is no 710 21m.
® The same X% of 72871 7WYN K.
" Why therefore do we assume here that if 177 891 Wwno17 they receive Mp7n because PAT1 PR N Wi, but the
X7 of mwn &Y for which we want to give them npon is a 7"°2 NN NAATRY IN°IW RY in a case where WM R WA
Once there is a 7n°n 2171 by a 1>, that 1> can no longer be NP1 211 in any situation.
8 pminn is the prohibition from walking more than a certain amount on naw. It is derived from the P08 (in [M2w2] Maw
m3,10) which states ¥pnn WK R¥® 9X. According to one view this P105 of X¥® X is also the source for the prohibition of
7X¥T; they read the word R¥ 9% (do not go out) as if it would be written X°%1> X (do not carry out). For xx17, there is
a n°n avn. Therefore, even though by 1110 there is no n° 217, nevertheless there is no MpP%n 21m, for the W2 of X
(R°x1°) R¥° is utilized for a 0 210 by TIR¥YT, so it is a 7"°2 NN aRhiny] nhw WwH.
9 *wX 27 maintains that the 187 of PN (which is XX 9X) refers to 1m0 exclusively, and not to XX at all, therefore
itis not a 7"v2 nn°n NATTRY 1w XY, and therefore one is 771? for 1mInN (but not because it is not considered a 1071w IR
7" npon naanR? [if it would apply to nxxy7 as well] since there is no an°» for PnIn)
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Even though there is no ;71052 by 1°2I70, even according to the one who maintains

that the 12170 TOR is 7707 312, and nevertheless there is no MpP% by 1PAINN because it is still
considered a 7"°2 NN NAITRY 100w IR? (on account of IX¥1T). So why is it that here by Wi, there
is mpon for transgressing the W of 71N X, when 71vn RY is a 7"°2 NN DIAIRD 1071w 1R7?!

N1B0IN answers:
- YYD MDD 13 OX 209501 Y991 NP 153 5937 NIvn KYT IND INYT PNY 13939 X9

And the ''7 answered that the XY of ;73vn X is different from all other PMXY, for

the o2 of YW1 M2 12 2R revealed to us that one receives MpPY» for transgressing

this X2, even though it is a 7"°2 NN NIATR? 1NOIW IR? -
= (@YIN, 97 1PITII0T NP PI93) (0w 3,2 97 2N91M WA 1999INT

As the X7n3 states in the beginning of nv>% n>o» and in the first 99 of 1997720 ndon -

- 27551 290 ¥ XY 19 PRY DIPNA NIPY 159 1990719 KPP S9)7 1199

And since the o2 revealed this to us that there is a possibility of mpon, so we

establish this P05 of MP?» 21°11 in a situation where it can never come to a 211
anon -

= 13890 13 IN NYII) 13 XY PDYNT ONNT XINN 9D

Like that case mentioned there in N1>» regarding 27V who testified falsely that a

certain 7719 was the son of a divorcee or the son of a ;71%Y91, which would make him a
99m; in this case they receive mpon for transgressing mIvn X7 —

Another example where there is mphn» by 1"'v:
= 1391927 1MW 122903 PR 9INT INNDD WO IYNINNY DT 130 IN

Or like the case where 2°7Y were contradicted in a capital case, according to the
one who maintains that they are not killed if subsequently they were 2137 -

105,75 (xxn) 0>127. This Awd discusses primarily the punishment of np%». However, the X723 in N7 derives from the
words YW1 DX W 227X DX PYTRT), which are written in this 7w19 (in & 2109) that this 7w19 is also discussing 27y
7mn7; meaning that there are cases where 1"¥ receive mipon for transgressing the W7 of 2pw 7v w12 mwn &%, However,
this contradicts the general ruling that 7">2 nn NITIRD 12w X2 2Y PRI TR, and 73N X7 is a 7"°2 NN NITIRY 10w X7
in a case where they testified falsely regarding a capital crime! We must therefore conclude that the % of 71yn X2 is
different from all other 1&? that even though it is a 7">2 nn> NIATRY 1°W XY, nevertheless there is a 211577 n°1a that
in certain instances there will be a Mp2n 21 for transgressing this XY.
1 See footnote # 10.
12 We limit this 5"7°1x of Mpn 271 to situations where there is no possibility of in 271, however when there is a
possibility of 7in% 2vn, there is no Mp» 2vn (because of the general rule that 7"°2 NN NAATRY IN°IW RS 2Y P2 7X)
even if there is no actual 7in°n 21717, merely a possibility.
13 %,2 M. If they turn out to be 12111 07V, they receive NMpon for transgressing 7wn X, since we cannot apply to them
the rule of ant "wR> 17 an°wy. We can give them mpo» since in this case there is no possibility of a 0 2.
14 Once they were wna11 there is no longer any possibility that there will be a 10 211, since this 7"» maintains Wwn217
13771 PR 1N 10271, therefore we can give them npon. This is the case in our X773, which 'own questioned.
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- 15757550 2PN Y XAY 9I125W 1193 PIVAN 12 PHRYNY KD PPN 1290 9INT INPY YaN
However, according to the one who maintains that in a case of %17 710271 WnoM
they are Killed, it is not logical to apply the P05 that there is mp?» for yn X7 in a

case of w217 alone, since it is possible that it will eventually come to a 7102 21,
if they were 117 later.

In summation; the 1R of 71¥n XY is an exception to the rule of P2 PR 72 NN NIAIRG NI KD 92
%Y (even when it is not possible for it to be a 7n 21°1), for since the 770 revealed to us by M
YW1 M7 12 oX that there can be Mp?n by 1"v (even though it is 72 NN NIAIR? 10°1), therefore we
distinguish between cases where it cannot come to 7"°2 nn°n, where there is mpo» for mwn X7, and
cases where it can evolve into 7"°2 nn°» where there is no Mpon.

Moo responds to an anticipated difficulty:
= 169991 51 12 ON NPT XIP 20 N1I9YIY WITD NIYN NN NYY 7I9NT DNN 7999 )

And when the X712 asks there (in 1777101 M2 MNOoR), ‘let us derive this (that 1"y
receive MpYn [in certain cases]) from the P09 of mayn XY’; the explanation of this

question is, so why do we need to derive this from the 102 of w277 n1577 32 a8 7™M -
= YYN 1 PPNV IND 19D N7 0IVN 1Y)

And the X3 answers, ‘because the X7 of 71vn X7 is a 'Y which has no action’; it

is merely speaking, and the rule generally is that there is no mpY» for a nwyn 12 XY R, This

concludes the citation from the X773 there. N19010 continues with the question -
= YPY NI NNTYA NN NN 1T 52 NN NININD 1N%Y IND NINT 9IWD 81 MN

The X773 there could have answered the reason we need the 2105 of Yw271 N> 72 OX,
and the 7109 of 711vn ®Y is insufficient, is because 7IvN X7 is a NN NTIRD JNIR IRY

7''92; for such a XY generally one is not 71779, therefore 72vn X is insufficient and we
need YW1 M2 12 X to give the MpHn 1"y, The reason the X713 did not answer this, is -

= 9N 2297 NN 129N N1IYY 29195 IV s¥aT NOHN

Rather because the X713 wanted to answer according to everyone, including »'' -

- (3,1 97 DANT NP P92 NRINK RIPN 0391 ©X1YY NININ 1PY NPyt

15 Therefore, according to this 7"% there will be no Mp%» by Wn21 since it is in the category of a NN NYAIRY I XL
7" (if ¥ana 7103Y), therefore Y5Y 1217 PR, even though now there is no n°n arn.
16 Previously the X3 there derived that 1"y receive Mmpon (in certain cases) from the P09 of Y17 N7 12 OX M (see
footnote # 10). The X113 is asking why cannot we derive it directly from the ?109 of pw 7v qv12 7wn X°.
17 2" derives the warning for 1"¥ not to testify falsely (not from mvn X? [as the 1127 do] but rather) from the P10
regarding 1"v, which states (in 2,u° [D°v912] 0*127) that "3 MWy 19°01° X9, If the X713 would have answered (as nooIN
suggests) that we cannot derive it from 71vn X? because it is a 7">2 DN NATIRY 122w XY, it would not work out according
to n", for according to him the 7">2 nn*» NITIR? 1N XD is 19°01° ®; for by 1"V it is possible to receive 7"2 nnon (but
not necessarily for 1190 X?). So why should they not receive mp%» on account of 71vn &?. Therefore, the X713 answered
that 71vn X7 is a qwWyn 12 PRY W5,
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Who derives, in the first 95 of n>» noon, the warning for 1''y that they should
not testify falsely from another pep.

n1voIN asks:
= 13Wyn 13 PRY IND 79D 1T DIVN NIYUNT NHYH 9IRN ON)

And if you will say; and now that the X7 answered that the reason we do not

derive Mp%n by 1"y from 71vn X7 is because it is a 7w 12 PRW IRY, nevertheless -
— 013hy 1919 AYPN 12 PNY INY vy MINT DN 2297 NN NN XY

This answer will not be according to ''2, who maintains that one receives niph»
even on a ;YN 12 PRY IND —

MB0IN answers:
= NQYDA ('x 1y ,0v) DNN 2INT DIVN INND 2299 1IVUY 29V PINTT 91210 U

And one can say that the X3 ‘pushes’ itself more to answer according to »''9

(rather than 777 ") because since »'"1 is involved there in the X239 of the mwn -
— 79 NRIYN 12 IN NWITN 1237 ¥HIWN 2MPHNI 23 HT DINNN *3)

Regarding the case of two hundred 111, and regarding the case of nip»» (where
n"7 argues with the 7127), indicating that regarding the cases of 739 321 w73 32

(in the X¥>7) he admits to the 1121 that they receive mp=n, therefore the X713 prefers to establish
the MW7 according to n"1 as well (as opposed to >"9).

nvoIN offers an alternate answer:
= 99ANT 17997 2497 NAYL N7 N7 %295 XMV NINN NN 29I N

Or you may also say, that answer (that 71vn X? is a nwyn 12 PRY WY, and therefore
Py 1”2 PR) will work out even according to >''9; for the reason why '

maintains -
- 2235 19323 PRMIT DXTYNY Y9 DY NOSDINMD 0XT DIVN 1YY PP NYUYN 12 PRY INY

18 The X3 gave that answer, instead of the answer '01n suggested that it is a 7"°2 NN NI 107w X2, in order that

the answer should be according to »"1 as well (see footnote # 17).

199 7 non.

20'We therefore could give mp7n to the "'y on account of 7wn X2. What have we accomplished by giving one answer

over the other, in either case the answer will not accommodate all the various opinions. See ‘Thinking it over’ # 2

21 The cases there are where the 1"V testified falsely, either that someone owes two hundred 17, or someone transgressed

a W? for which there is NP, The 13127 maintain that they pay two hundred 177, or receive mpo» respectively. "3

however maintains that they receive a dual punishment; either two hundred 17 (for ant wR2) and NP (for mIwn X?),

or twice NpYn (once for ont w3, and another for Mvn R?) respectively.

22 It is actually a mwn 7X. Both 7"wxm (see footnote # 27) and 1"y are a 7wy 12 PRY W? and are Mphn 27n. However,

we cannot derive it from 1"wx alone, since 7"wx has the X of o2wn 712, therefore we bring in 1"y, We cannot

derive it from 1"y alone because they have a X711 that they do not require a %07, therefore we need 1"wx. The 7%
5
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PHY PRIP TwYR 12 PR XY, is because he derives it from 2''wx» and "'y through
a ax I3 -

= YVUIN MON 12 ON 1119 1201997 DIT1Y2 D)7 IND IN)
But if it weren’t for the fact that the P05 of ¥w=77 n1577 32 2N revealed to us that

'Y receive Mpn -
- 23559 1P PN DY 12 PRY INDT SN 993 135988 1D

We would have assumed that everywhere there is no mp>» by a mwyn 12 PR N> —

In summation; we would rather say that 1"y do not receive mpo» for 711yn X9 because it is a PRW K7
TWwyn 13, rather than to answer because it is a 72 NN NAATRY 171 XYW XD, since the former answer
is also valid according to n"9, even though it is not valid according to >"9 (who maintains "R WX?
POV P12 Iwyn 12). Alternately if not for m277 32 oR, even "1 would agree that PX 7wyn 12 PRY R
PO PP, since we cannot derive mpYn by 1" from mvn R (for it is a wyn 12 PRY WRY).

n1voIN asks:

= 9N 2297 NIIIN NN 2991 NMIPY NINNT 9NN ON)

And if you will say; how can that answer be according to »''9 -
- 1127 DO1Y 1PYT 19091 YWD M1 1A R 7D XY N ¥29Y N

But according to »''1 we know that 1''y receive np»» without deriving it from
PRI N7 2 AN 7197, The reason 1"V receive Mp?n according to n"A -

7w (of 2"wxn and 1"v) is that they are a mwyn 12 XY W7 and V7Y 112, we can therefore be 71271 (according to °")
every Twyn 12 PRW W7 that 1oy Pp1?
23 We derive (according to >"9) that iwyn 12 PRY XY ¥ P from 7"wem and 1"'v. However, how do we know that there
is Mpn by 1"v; only from the 717°% of 31 M3 12 oR, for we could not derive it from the W of m1wn X7, because we
could argue that it is a 15y 1212 7RI 7wyn 12 PRY KD, However now that we know from w17 ndi 12 oX that there is
mpon by 1"y, we can derive in all other places that qwyn 12 PRY W2 ¥ 1P through a mwn 78 from 2"w¥m and 1"V,
Therefore, the X773 rightfully answers that 1"y cannot receive mp» from 71yn X% (only from Yw9i N1577 12 OR), since
7IVN K7 is a qwyn 12 PRY R and without M3 12 oX, we would assume that 1"y do not receive mpYn (since 71vn XY is
mwyn 12 1X), and we would therefore not be able to derive anything from 1"wx alone for it has the X1 of 2%wm P17
(see footnote # 22). However now that we derive 1"V for mp» from M3 12 a8, we know 771077 922 (according to *")
that P12 on a 7wyn 12 XY W through a Mwa 7% of 2"w¥m and 1"v.
24 This is referring to the answer the X7»3 in M2n gave to explain why we do not derive from 7iwn X> that 1"y
(sometimes) receive mpn (instead of deriving it from yw-n M7 12 [see footnote # 16]). The answer was that we could
not derive it from 7D X, since it is a AWYH 12 PRW W7, Previously Mmoo explained the reason the X713 gave this
answer instead of another answer (that it is a 7"°2 DN NIAIRY 1AW 1RY), was because the X3 wanted the answer to
also follow the view of n"1 (see footnote # 17). N20N is now asking that seemingly we have not accomplished our
goal since this answer can still not follow »"9. See ‘Thinking it over’ # 2.
25 The o>non derive that 1"y receive Mmp7» from w71 N7 12 oX; they cannot derive it from 7yn X7 since itis a XY R?
mwyn 2. However, n"1 can have another way to derive that 1"V receive mp%», as MooIn immediately suggests.
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- 28449 QW 27808191 2693991207 NWUYN 12 PPNY 29 YY 9N

Even though it is a Twwn 12 PRY XY, is because we derive 1"V from 2''w3y%2. The
reason we assume that "9 derives mpon by 1"y from 2"wxmn is that -
- 2915951 P71 1IN DITYT P9 DY NOSIN (2 1oy ,ov) MNT RIP P92 03T 9391 %9

Just as he derives, in the first p9p of n1>» noon, from ='"'wxyn that 'Y receive
mpvn» and also pay> —

N1B0IN answers:
- 31155UN) PPITY PIYY RPIT 10N ¥9 DU NOSWIN 99T 3) 5Y T 9129 W

And one can say that even though »"2 derives 1"y from =''wxw; that is only

concerning the rule that the 1"y can receive both punishments of Pa®wny P> -
- (v,25 97 M) 32X 1IN RIPRTI SMPINK AYATY INPUA 1 MPINY XIINT DIUN

For we can establish the P09 of Inyw= 375 (from which the 73127 derive®® that PX

2owm 1717) for another 7w=7 as is mentioned in NP1 YO8 P9 -
= IYYN 1 PPNV IND PIyY VAN

However, regarding the exemption of a 7wy» 12 PRW IRY from Mpon -
— UYN 1 YIY IND 19937 (3, 917 man) PPPITN DN 1IN P*mwybn 192959

Which we derive in 1°219;7 277 ¥2K 219, from the word nwy®; that we require a 18>

TWYN 13 WO -
- NYTHA NI 5907 INY ON ¥9 DY NOSIN 135912 1N RY

We would not have derived 1"y from 2''wx3 that they are mphn 21, unless the

26 There is no X723 as such, however 20N assumes this to be the case as he continues to explain.
27 A 1"w3m is one who falsely accused his wife (with false witnesses) that she committed adultery while she was an
7017X. The punishment of a 2"wx is written in the 7710 (in ©>-1°,22 [R¥N] 2°727) that 192 AKX NN WY MR 17071, This
is understood to mean that he receives (10X 110°) NPon, and has to pay money (703 17X¥7).
28 Just as a 1"W¥M is a WY 12 X > (he just made a claim) and nevertheless he receives mphn, the same should
apply to 1"v that even though it is Twyn 12 PRY W7, nevertheless they should receive mpon.
2 Generally if one is liable (for one act) both mp%n and 171, he receives only one punishment (either mpon or 117),
but not both, as we derive this from (2,72 [XXn] 2°727) 1YW *73 in the singular; 12717 70K "RY 12772 7NK DAX YWD 0w
nrywn "2 own. However, by 7"wxn the 7710 rules that he receives both (See footnote # 27). »"7 maintains that 1" are
also o?wm 7>, In any event this same 7%°% would also indicate that 1"y receive mp%n (just like 2"wxn), and we do
not need to derive it from w17 Mo7 12 oX. The question of NvoIN is that if »"2 derives that 1"y are 112 from "W,
so the entire discussion of the X there (why derive it from n>7 32 oX, when you can derive it from 7vn X?) is
irrelevant according to "1 since he derives 1"y from "W (not from n1577 72 aX, and not from YN K?).
30 This is in a case where the 1"V testified falsely that 72387 owes 17nw a hundred 177. When they are arm, the 1'v receive
mpon, and have to pay 12187 a hundred 11 (according to n"9). See footnote # 21.
31 This means that once we already know (from yw=7 M5 12 o) that in certain cases the 1"V receive mphn, they also
may have to pay money (to fulfill the ant 7wR2 [see footnote # 30]). However, we do not derive from 71"wxm that 1"y
receive Mpon.
32 See there on X,1% and '2 7y that he derives from 1nywA >72 that there is no P Ao,
33 See footnote # 29.
3% m3,m3 (Xan) 0127 reads, NXTT 79I 127 92 NY Ny “hwn X5 ox.
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mep explicitly®® taught so —

mooIn offers an alternate answer:
= YVUIN MON 12 ON NP1 KON 39PD7 1D NP XD N991) ¥4 OV NOSINT 991D W N

And additionally, one can say that we do not know by the 2''wx2 himself that

he receives npvn, only from the P10 of =T M2 32 AR 71957 -
— 385919 37999519 190 M7 (%1 91 DY) P99 /2N 9INT

As 1728 ' states in M2In> noon in 7P P99 that we derive that a 71"wXm receives
mpYn through a MW 7912 of 1999 from 797, etc.

In summation; even if »"1 derives 1"V from 1"w¥w (regarding 1m7wn1 PP1?), nevertheless we still
derive that 1"v receive mpon from N2 12 X, either because n" cannot derive 1"y from 2"wxn
regarding mpon 211 (for M2°7 alone), or we only know that 1"wxn receives Mpn, because we
derive it from N1277 12 aX (trough the w"13 of 170" and 72).

mooIN anticipates a difficulty:
= 1152 W97 NI NIYN KD IRN 31329 (2,797 MNT NP P92 9INT XM

And regarding this which the X713 asks in the first P92 of n12% n>on, ‘and how do

the 3227 expound this P10 of 7ayn 8%’; the xn3 answers -
- 9015139397 DY NININY 1199 Y3253 XY

“That ?05 of mwn XY is required as a warning for 3''y’; this concludes the citation of
the X7n3 there -
= 15mPYN 2NY 23179 HY DIYNI DIPYAIN NIN IPY KD 190D WID

The explanation of this answer is, so therefore the 1"V receives only forty lashes
when they testify falsely regarding someone that he is liable for npb» -

35 The p10o that teaches us that 1"y are 797 is Y@ M7 12 ax 7°M (see footnote # 10). Therefore, the discussion in that
XT3 is also according to n"9. See end of footnote # 29.
36 The word 110" by 1"w3m (see footnote # 27) does not necessarily mean mpon. We need to derive it through a
(double) w"1 from ywI7 N2 7.
37 There is a 107 by a 1"w¥m and a 1707 by a 771 170 13, and we derive the 12 of 7711 970 12 from the 72 of a8 7'M
ywaT NMOT 3a.
38 mooin answer is that even if we do derive Mp>» 271 by 1"y from "W, we still need the P105 of YW1 M>7 12, for
without it we would not even know that 1"wxw receives mphn. Therefore, the s'km3 question is valid even according
to n"9; why do we need to derive it from (2"wXm via) N7 12 OR
39 9°%n "2 (who argues with the 0'251) maintains that "'y are nwn P12 (see footnote # 30). They receive mpon for
transgressing mwn X2, and they pay money for on1 7wRr>. However, since the 0°»5n maintain (from 1nywn >72) that they
only pay and do not receive mp?n, why do we need the 109 of 7wn X5.
40 The 7N punishes the 17 > as is written "3 oa7 WK 2 an°wy, and we know that there must be a warning to
justify a punishment; the warning for 3112 on>wyY is 7Ivn R5.
41 According to n"7 the 1"V receive Mpon twice, once for mwn X2, and a second for ant 7wX3. However, according to
the 1321 they only receive mpon once for ant 7wR>. The question is why are they not 712 twice.
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- 92154 5152 NS NINTNRY 1Y INY MHNT DIVN NIYN NIN ¥PY YT 91291Y Sya XY
The X723 did not mean to say that the 1"y does not receive mp»» for 7i1vn 8,

because it is a 7''2 PN NATIRD INIW IR, this cannot be the reason —
= #3539 13249 90N YN 1A XINY 1YY DITIYNA NN

For in the case where they testify falsely about a 773 that he is the son of a divorcee

(and therefore he is a H7m), the J321 maintain that they do receive np» (because of

7avn RY) -
= B5um PPIY 19N INYY 319 IND IN N DINNN ANV DITYNI

And (furthermore) in the case where they testify falsely that someone owes two
hundred 1, the rule would have been that b2y 3P, if not for the P00 of 72

WNYW which teaches us that Praowm 1212 1X. We see that there is mpo» for 71vn R, so what does
the X3 mean when it says that the reason there is no two mp?» (or no Mpo» in addition to 117)
because myn XY is for 1"y NIR?

Moo responds:
= 190217 OTY NININY 1D 5921 NIND IVIVD 191 NIN

Rather this is the explanation of what the X2 answered, ‘we need that 7105 of

719N X5 for "'y NN’ -
- %50 XY ©IVUN RIN MPYN 29NY 2999 Yy 0O 1I¥NRYI 1PY XY 05% YUNRI DIVNT

Since when 1''v receive nipo» for testifying falsely about someone that he is 2391
mpbn, it is not because of ant "wR> alone, but rather only because they also

transgressed the W% of m1yn KY -
= DIMNY OPY NRY NIYN NITINDN 799N 991N 19 ON NIN 2INON Wy DT

For the 770 does not punish (13112 an°w3n) unless there was a warning first (71vn X?),

therefore there cannot be two NP7 — eighty lashes - for the one W8> of myn X -
= Y4AN IND DIV 1NN 0Nt TYUND DIVMNI YTIYNVY PY MTY DIVN 1PV WIVD

42 mpon is negating the following interpretation of what the X3 answered, '1"y nAATRY % w2n ®177'; we could say
that the X773 means that since it is needed for I"v N77IX in a capital crime, therefore there can be no np%n» for m1vn XY,
since it is 7"°2 nn°n NATR? 1001, Our '0n negates this interpretation.
43 They receive mpn for transgressing 71vn X2, even though that it a 7wy» 12 PRY W7 and a 7" NN NIATR? T RS,
nevertheless they receive NP based on the P109 of YW1 M7 12 oX (see footnote # 10).
4 1f not for the L1 1 of NYWA 73 they would be P> (for mwn X) and rown (for ont wX3), and we would not say
that they can’t be 7 since mwn K7 is a 7"°2 DN NITIRD 1071w X7, In essence Moo is asking so what that m1vn X2 is
needed for 1"y N1IX; that is seemingly no reason why there should be no mpo» for 7wn X%, even if it means two times
mphn.
45 Even though it would seem that they receive Mipo» because of 131 a1 Mwr 12 an*wn, nevertheless the ultimate cause
is mwn X, as NN continues to explain.
46 This is the view of 1" (who does not derive the 77X for 1"y from 71vn X% [but rather from T 19707 &91])
47 Since both the Mmpn for ont AWK and the MpY» for mwn K> are ultimately based on 71vn X2 (see footnote # 45), we
cannot give two n1pon for one transgression based on one W? of 7w K7,
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Meaning that there should be nip» for testifying falsely (71vn X7), and another

mpon because of 2nt AWK, this cannot be since both n1’pon are for one I8 -
= 01T YYND DIVN DIV 2NNN NN NIYN RYT XIP INDAT 1T ANN A9NY DO¥Na Yan

However, when they testify falsely that one owes a hundred 17, where the 1"V
would be liable to pay even without the »o2 of mivn KY -

- 1PN XY SPY 1IN INYWA 319 INY ON INT BN BHanN sya XY anT
Because regarding monetary payments no warning is required; in that case
there, if not for the limitation of wnyw= 37> (which does not allow for two

punishments), the 1"y would also receive n1>» on account of 7ayn X -
:NRYN 13 IN TWIN 13 NINY DI ¥N3 19)

And similarly, when they testify falsely that the 3772 is a 77@193 32 or a X917 32 that
they receive mpon» for miwn X7, since there is no other Mp?» or any other punishment.

Summary
The X7 of 71N X7 is an exception to the rule of Y7¥ PRY? PX 72 NN NATIRD NP R 25.

Thinking it over

1. nvoIn writes that when 1"V testify falsely regarding a person owing money there
1s no 777X needed to implement the anT WX, since money does not require an
7R, * However, this would seem to apply exclusively where the money is legally
owed, because of a loan, or for damages; however here by 1"y, there is no money
owed legally and no damage caused to the accused; they merely attempted to cause
him damage, how can MdoIN say that even in such a case a 777X is not required?!

2. moon asked two question (that the X713 cannot follow the view of 1) a7 '9,%°
and 2) 7°%n >27).>! On each question Moo offered two answers; one (sort of)
agreeing with the premise of the question, and the other rejecting the question’s
assumption. Can we connect these two questions and answers, somehow?

“8 When one owes money either because he borrowed it, or he damaged his friend’s property, he is obligated to pay,
even though there is no warning stating do not damage or if you borrow you have to pay. There are only warnings
concerning corporal punishments, but not monetary obligations. Therefore, here too by 1"y there is no 777X required
for the monetary obligation of ant qwr> 12 anwy. See ‘Thinking it over’.

4 See footnote # 48.

%0 See footnote # 20.

51 See footnote # 24.
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